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GENERAL INSTRUCTIONS:

1. This question paper contains 34 questions. All questions are compulsory.

2. This question paper is divided into two parts, Part A and B.



5. Question Nos.1 to 16 and 27 to 30 carries 1 mark each.

6. Questions Nos. 17 to 20, 31and 32 carries 3 marks each.
7. Questions Nos. from 21,22 and 33 carries 4 marks each
8. Questions Nos. from 23 to 26 and 34 carries 6 marks each

9. There is no overall choice. However, an internal choice has been provided in 7
questions of one mark, 2 questions of three marks, 1 question of four marks and 2

questions of six marks.



HATIT &
(ErieT BAf 3R Hufadt & fow erais)

PART A
(Accounting for Partnership Firms and Companies)

A, B 31 C HISIER & St omet AR gTiel A1 52 3 1 2 3 3e]uTaT A AT il ¢ | IS B
LaTfeAge g1 91T, ol A 3T C T @187 3eTdTeT gla: -

(a). 2
(b).
(c).
(d).

N O NN W
A

2
3 (1)

A, B and C are partners sharing profits and losses inthe ratioof 5: 3 : 2. If B
retired, the gaining ratio of A and C will be:-

(a).
(b).
(c).
(d).

HADY (A): el AR & FOT W I [haT ITT STTST HTSERT A & o1eT 3R
gt faferaerer @ra & eor foram Srar &
$ROT (R): fFHT ATIER & 0T IR &1 317 I1eT ATIERY B & folT orey o R &

N O N W
WN=2DN

fFfafed # & @8 3 =

(a). A3IRRaE HEE, IR, AHrag sarear |

(b). AR R TEr g, aifheT R, A &1 T =T A8t g

(c). ATErg afra RaraAT B

(d). ATd g dfhd R T B (1)

Assertion (A): Interest paid on a Partner’s loan is recorded in the Profit and Loss
Appropriation Account of a partnership firm.

Reason (R): Interest paid on a Partner's loan is a Charge against profit for a
partnership Firm.

Select the correct answer from the following :

(a). Both A and R are correct, and R is the correct explanation of A.

(b). Both A and R are correct, but R is not the correct explanation of A.

(c). Als correct but R is incorrect.

(d). Alsincorrect but R is correct.



Teh AT o T 30 TfcY 370 T Tgell ATAT ST AT o Shlad T X 100 Hed (X 70 A1)
&% 200 yarmmi%maﬁamﬁm%&aﬁrmﬂmﬁﬁqﬁ aﬁ’rm—cﬁ%m’r
hUall STect TehT 1T 3Rt T Gt aﬁwﬁ%mﬁmra@wm@rmé
bl &

(a). Z409fa =R
(b). % 509fad =R
(c). Z209fa 9=
(d). Z309fa IR

3dar

ot fafAes o THe3ns &% & 2 10,00,000 T s 70T o] H9=AT o 3HS oIT A
sfasifarat & & # % 100 9T Hed & T 10,00,000 & 10% FOT9T SIRT fehT | HeTTeh
Qﬁﬁ%ﬁr%wﬁrawqﬂ ST e O T & 2R T ST -

(@). 10% FoT9a @I

(b). FUTIF 3TAT WAl

(c). & ForT™@rar

(d). ot O IS o et (1)

A company forfeited 200 shares of 100 each ( ¥ 70 called up ) for non - payment of
first call of ¥ 30 per share. If the company Re-issues all forfeited shares. Then, the
company may allow maximum discount per share at the time of reissue of the
forfeited shares:

(@). %40 per share
(b). X 50 per share
(c). 20 per share
(d). % 30 per share
OR

B Ltd obtained a bank loan of ¥ 10,00,000 from SBI bank. The company issued X
10,00,000 , 10 % debentures of ¥ 100 each as Collateral Securities for the same.
Account will be debited on issue of debentures as collateral securities : -

(@). 10 % Debentures A/c

(b). Debentures Suspense A/c

(c). BankLoan Alc

(d). None of the above



X, Y 3R Z Ueh %A H WISIER 8 il o187 3l 2:2:1 o 3He]dTd H Sl 8| 3egiel ST &
T Y AT &Y F dieat T A0 forgm| 3e1eh faer o Rerd # 2,00,000 3R
3eteh Tt el @i # % 40,000 1 A AT| A TIRAT X, Y 3R Z & &y 3rqard
IEGEGEIRCILEIIE

(@. 2:2:1

(b). 1:1:1

(). 5:3:2

(d). 3BT § FIS 8T 8T

37Yar
ITE AISIER T Goil TATS § ot eI 7 @ el AT Slefdst AISIGR & dre] @i H
3fac fohar STTam?
(@). HTHGRI FI ddeT
(b). Yol 9T AT
(c). 3MTEI0T W AT
(d). 3rfaRerd g (1)

X, Y and Z are partners in a firm sharing profits in the ratio of 2 : 2 : 1. They decided
to share future profits equally. There was a balance of ¥2,00,000 in their Investment
Fluctuation Reserve and %40,000 in their Advertisement Suspense A/c. These
amounts will be distributed between X, Y and Z in the ratio of :

(@. 2:2:1
(b). 1:1:1
(). 5:3:2

(d). None of the above
OR

Which one of the following transactions will be Debited in the Partner's Current
Account, If partners capitals are fixed?

(a). Partners Salaries

(b). Interest on Capital

(c). Interest on Drawings

(d). Additional Capital Introduced

AISIER & 3107 i 3fae fhar SAarg:

(a). TSGR T Yoil Ere.

(b). oIt - gifay @]

(c). TSGR T FHUT W

(d). < 3R gIfer FATASTST Q. (1)




Partner’s Drawings is debited to :

(a). Partner’s capital account.

(b). Profit and Loss Account.

(c). Partner’s Loan Account.

(d). Profit and Loss Appropriation account.

T ffAes & 2100 9 #ed & X 1,00,000, 10% FOTTAT &l 10% I & I AR v |
FYstl & ara gfasfa NifATs R 37 % 6,000 FT FoiF §1 FOTTH R T I 38 THR A
3eif@d foham Sreer|

(a). 10,000 gfeifa Mz Red @

(b). % 10,000 o7 3R g1fer & faaroT &

(c). 6,000 gfasifa iR Ratd & 3R % 4,000 me7 3K g1fet & faawor &

(d). 5,000 Sfasiia MfATH Rard & 3R % 5,000 o7 3R g1fe & faawor &
3r2rar

Ife ¥ 10,00,000 & FOTIAT T P TR SART fohT ST &, o] 3oTehT AT 10% HfATH

X BT &, & WifATs & F7a7 fhar Srar g

(@). Foraa 3afa @rd

(b). FOTIHAT o QT T WA @rT

(c). FOTIA FI gIfed W IRT LA HT QIT

(d). TR A HIS o =7gr (1)

F Ltd. Issued % 1,00,000, 10% Debentures of ¥ 100 each at a discount of 10 %. The

company has a balance in Securities Premium Reserve of ¥ 6,000. Discount on

Issue of Debentures will be written off as

(@a). ¥ 10,000 from Securities Premium Reserve

(b). 10,000 from Statement of Profit and Loss

(c). 6,000 from Securities Premium Reserve and X 4,000 from Statement of
Profit and Loss

(d). ¥ 5,000 from Securities Premium Reserve and % 5,000 from Statement of
Profit and Loss

OR
In case debentures of ¥ 10,00,000 are issued at Discount but redeemable at a
premium of 10%, the premium payable is Credited to
(a). Debentures Suspense Account
(b). Premium on Redemption of Debentures Account
(c). Loss on Issue of Debentures Account
(d). None of the above



HFSRUT (A): AR AI Yol HAAAT A Yol & 34T AT 3Heh SR §T Fehell |

FROT ( R): mmmmmﬁmmmmaﬁa@mm|

(a). FUA A 3 FROT R et T &, 3R FROT R, 31famereT A 1 Gé) sare ¥

(b). 31TAFUT A 3R FROUT R ST TEl &, eifched HRUT R, 31TAHUT A Fr TET caredm
Tl &

(c). 3ATHFPUT A ITeld & olfched PRUTR Tel &

(d). 3ifAFUT A TET & Afhad FROUT R T B (1)

Assertion (A) :- Authorised Share Capital can be more than or equal to Issued
share Capital.

Reason ( R) :- A company cannot issue shares for more capital than its Authorised
Capital.

(a). Both Assertion (A) and Reason (R) are Correct and Reason (R) is the correct
explanation of Assertion (A)

(b). Both Assertion (A) and Reason (R) are Correct, but Reason (R) is not the
correct explanation of Assertion (A)

(c). Assertion (A) is incorrect, but Reason (R) is correct.

(d). Assertion (A) is correct, but Reason (R) is incorrect

T R S WPIER § S 7:3 & 31791 3 et 3R gIfey 1 FAHTSTet Xt § | 3ogiod U s
X & fIT Z it teh AT TEIER & &9 H yaer 1| I R 379 B i ©aifa 2
10,000 ST §1 Z o 9ALT & HHAG B Sl 1Tl T Hod g

(a). %10,000
(b). 20,000
(c). 40,000

(d). ¥ 1,00,000
372rar
TH 3R v e 2 1,000 3R 2 2,000 & ATfES ddeT & gheR HARNER §| I a¥ &
foIT &msT 2 18,000 UT| T 3R TeT I UTC dcteT hl 1T B9
(a). 10,000 3 Z 8,000
(b). 8,000 31X T 10,000
(c). ¥6,000 3 T 12,000
(d). 12,000 31k ¥ 24,000 (1)

T and S are the partners sharing profits and losses in the ratio of 7:3. They
admitted Z as a new partner for one fourth share. If R brings his share of goodwill X
10,000. The Value of firm’s goodwill of the firm at the time of Z’s admission will be :
(a). 10,000
(b). 20,000
(). 40,000
(d). ¥ 1,00,000

OR



M and N are partners entitled to a monthly salary of ¥ 1,000 and ¥ 2,000
respectively. If profit for the year were % 18,000. The amount of Salaries received by
M and N will be :

(a). 10,000 and X 8,000

(b). 8,000 and X 10,000

(c). %6,000andzX 12,000

(d). 12,000 and % 24,000

faf@a sreafas Tufa #F afer 3R 38F 3R o 99T T&ar 9 3R 10 & 3
ALY
X AR Y &Y AR &1 A & 319e) € & FRIT T $7aTTeT del o forT Teden faaATeY & 37t
# % 5,000 YA1fAs Aeprer| WY#W@%@WWWWW%%@@T
AT & IRFT & izooomm|mmﬁam€mwma
12% 9Ty ay g1

Read the following hypothetical situation, answer question no. 9 and 10.

Xand Y are two partners. A withdrew % 5,000 quarterly at the end of every quarter
for making payment of his house rent. And Y withdrew % 2,000 monthly at the
beginning of every month for making payment for the school fees of his son. Rate of
interest on drawings given in the partnership deed is 12% p.a.

9. X & 3TEI0T W AT 8191

(a). 2,000

(b). 1,200

(c). 900

(d). 1,800 (1)

Interest on X’s drawings will be

(a). 2,000
(b). 1,200
(). 900
(d). ¥1,800
10. Y H IEROT WSS ..o Al & forw forar Sream
(@). 6.57g
(b). 6 FE
(). 5.5#g=
(d). 3#F= (1)
Interest on Y’s drawings will be charged for ............... months

(a). 6.5 months
(b). 6 months
(c). 5.5 months
(d). 3 months



11.

12.

HSERT B Gt aRaiereiter gieY X 3er Gt @I & shide et o R ooy arel 7%

(i). TSGR T AdeT
(ii). ATSIGRT ST FHFATRT
(iii). 3ATEIOT YT =TS

(iv). Gt 9 ST

e Tdehod Tai:

(@). aad (i), ii) 3R (iv)

(b). pad (i) 3R (ii).
(c). had (iii)
(d). ohae (i) 3iRiii) (1)

Items shown on credit side of partners’ Capital account when their capital are
fluctuating :
(). Partners Salary
(ii) Partners Commission
(iii) Interest on Drawings
(iv). Interest on Capital
Choose the correct option:
(@).  Only (i),(ii) and (iv)
(b).  Only (ii) and (iii)
(c). Onlyiii)
(d).  Only (i) and iii)

ot fafaAes 1 <1 faffes & duf 2 10,80,000 # TET| deh €aRT X 1,80,000 T T
feram aram 3R Q9 TR 10% T TR 100 & 10% FOTIT SN & &1 M| HOTIT T
g @i i 39T o smdem

(a). %1,00,000

(b). %2,00,000

(c). 80,000

(d). ST & oI5 o7 e (1)

B Ltd. purchased the assets of D Ltd.for ¥ 10,80,000. Paid % 1,80,000 by cheque
and the balance amount by issuing 10 % debentures of 100 each at 10% discount.
Discount on issue of debentures account will be debited by:

(a). ¥1,00,000

(b). %2,00,000

(). 80,000

(d). None of the above



13.

14.

XY huall o HHeT 9 X 100 Ui Hed & 12,000 HHT 370 SIRT fohw | AR fle=iTeTar
g o

3MaesT WX T 30; 3fTdesT UX % 20; TUH IrgeT W T 40 31 3ifas a=gar .w 2 10
gfa RX| 18,000 WRT & ToIT 3HTdesT Ured gT| F3T HTdGen I TeAuTlde TR W}
3Tae RaT 17| 3TFARGT Y=RTRY 3TdesT W eeaidid Wé’r?lé’laﬁmﬂaﬂrrfilﬁ
faftraa urea g% off, ar 3tdea W fohdsir TR sTehg, TTed &5 &1?
(a). % 60,000 N

(b). 20,000
(c). 10,000
(d). 12,000 (1)

XY company issued 12,000 equity shares of ¥ 100 each at par value. Amount were
payable as under:

On application % 30; on allotment X 20; on first call ¥ 40 and on final call ¥ 10 per
share. Applications were received for 18,000 shares. Allotment was made on a
pro-rata basis with all applicants. Excess money was transferred on allotment. How
much amount was received in cash on allotment, if all due amounts were duly
received?

(a). 60,000
(b). % 20,000
(c). 10,000
(d). %12,000

F 3k Q s&er: T 4,00,000 331 2 8,00,000 & ITT Ueh Fd H ASIER &1 3eaiet 1/5 BEd
& O Z I AT FEieR & &9 F yaer feam| z 39+ ffew i ©fa & faw 2 50,000 &rar
& 3R 38 amer F 1/50 REA & T JMTequricish Goi offel T HTaeTehall BIc & | Z &1 Yoit
TSI 1o

(@). %2,12,500.

(b). ¥ 3,12,500.

(c). ¥2,00,000.

(d). ¥ 1,40,000. (1)

F and Q are partners in a firm with capital of ¥ 4,00,000 and % 8,00,000
respectively.They admitted Z as new partner for 1/5 th share. Z brings % 50,000 for
his share of goodwill and he is required to bring proportionate capital for 1/5 th share
in profits. The capital contribution of Z will be:

(a). %2,12,500.

(b). %3,12,500.

(). %2,00,000.

(d). %1,40,000.



15.

16.

A 3R B HIS1ER 8| TSR fael & 316JHR 3e7sh i<l o187 38 TR faaRd fmar
ST - Ugar T 1,00,000 A 9 & 34T A TR 5: 3 & 3iequrd #| fe 31 A, 2023
T THTCT &Y & ToIT wef T o1 T 2,60,000 AT| A 3R B & ahver Faaiel o1mey o T
CIIE

(a). ¥1,50,000 3R % 1,10,000

(b). ¥ 1,30,000 31X % 1,30,000

(c). ¥1,20,000 3R % 1,40,000

(d). ¥2,00,000 3iR % 60,000

372rar
X 3R Y i v B 2ff ST 375i= T 2,00,000 1 f@aer forar am) 3iraa orer 2 50,000
7| 3T H HATS HT AHT & @20% & | T T HodieheT 31T ATST T 3 ATl I
TR W fehaT SR | ©ATTel &1 Hed glam:

(a). 40,000
(b). 30,000
(c). 34,000
(d). ST & IS o Gt (1)

A and B are partners. As per partnership deed profit will be distributed between
them as - first ¥ 1,00,000 equally and rest amount in the ratio of 5 : 3. If the profit of
the firm for the year ended 31 March, 2023 was % 2,60,000. The profit share
distributed between A and B will be :

(a). ¥1,50,000and % 1,10,000

(b). 1,30,000and % 1,30,000

(¢). 1,20,000 and % 1,40,000

(d). 2,00,000and % 60,000

OR
Xand Y had a firm in which they had invested % 2,00,000. On an average, the profits
were X 50,000. The usual rate of earning in the industry is @20%. Goodwill is to be
valued at 3 years’ purchases of super profit. Value the goodwill will be :
(a). 40,000
(b). 30,000
(). 34,000
(d). None of the above
SH 37AEAT I BIsH gA R fFawor 7 & 718 wafal Wt |gieRT & gei @ 7
FATATAR I AT &
(a). TTSERT B & [age
(b). & HIBIGR T YA
(c). TS APER & Aaf=gT
(d). WEER A FY (1)



17.

Goodwill given in the Balance Sheet is always transferred to old partners capital
account except this case:

a). Dissolution of Partnership Firm

b).  Admission of a new partner

c). Retirement of a partner

d). Death of a partner

X, Y 3R Z #gieR § St @met AR g1fed &l 3:2:1 & o]t A A dfed ¢ Y Yarfaga grar
éaﬂivﬁﬂa@aﬁﬁﬁfﬁwmﬁmmegoooohtznﬁrqga@ré’r%eso 000
& e ClTLN—dchlﬁElEﬁH%lX%ﬁTYHH’QTWBZ%I Rera T 919 3iR ey
3-|o-|\-lld£|'dlulo-llah_)\'|

fafr | feor T, | aH () ST (%)
Th
(i) X T Yot @rdr ATH @)
YEF»TCIGﬁETT-IT ATH 20,000
zquﬁm ATH (o) .
Ea1fa @rdr STAT 60,000
(TITT WTT A9 & fohar aram )
(i) | X T it QI ATH 9,000
Za»‘rqsﬁm ATH ...(C)......
Y &I Yol G STAT (¢ ) I
X3IRZFGEhEarayY refa
FATNS &Y I )
(3)

X, Y and Z are partners’ sharing profit and losses in the ratio of 3 : 2 : 1 . Y retires
and on the date of Y’s retirement goodwill is valued at ¥ 90,000. Goodwill already
appears in the books at a value of % 60,000. New ratio of X and Y is 3 : 2. Fill in the
blanks and calculate gaining ratio.

Date | Particulars L.F Dr. (%) Cr.®
(i) X’s Capital A/lc Dr. N ) O

Y’s Capital A/c Dr. 20,000

Z’s Capital Alc Dr. . (b)........

To Goodwill A/c 60,000

(For Goodwill written off)
(i) X’s Capital Alc Dr. 9,000

Z’s Capital Alc Dr. ..(C).......

To Y’s Capital Alc I (o ) IR
(For adjustment of Y’s Goodwill share
from capital accounts of X and Z )




18.

19.

X 3R Y HISIER § St ot 3 g1ied T 3:2 & 31e7d1T # fasnfora e §1 1 318¥e, 2022
ol 3eTeh! Yail sher: % 1,000,000 31X % 2,00,000 zmﬁ-rhzra-éra;smﬁr a-s’mg:mﬁ:
qsfrw—mrm% & T 10%a1?~|?raﬂévﬂmﬁ:mwm3qﬂaﬂ?ra%aﬁm
& T Ao TRATE Y| 39e F F TS &9 F R
3r2rar

A, B 3R C 3:2:1 & 3e]urd # oTe7 dicdd g1 A &l 9l a¥ %1,80,000 & wgAcTH oTeT
e & Seh ¥ 31 AT, 2023 FT GHECT I & T B A T 60,000 T aﬁrgélqwfr
T gECThT # Asferrerar gfafsear wi| °(3)

X and Y are partners sharing profits and losses in the ratio of 3 : 2. Their capital on
1st April, 2022 were X 1,000,000 and % 2,00,000 respectively. At the end of the
financial year , it was discovered that interest on capital was wrongly credited to
them by 10 % instead of 12 %. Pass journal entry to rectify above error. Show your
working clearly.

OR

A, B and C are partners sharing profits in the ratio of 3:2:1. A is guaranteed a
minimum profit of ¥1,80,000 per annum. The firm incurred loss for the year ended
31st March, 2023 of % 60,000. Pass journal entries in the books of the firm.

g fafAes & S fafaes @ 2 6,30,000 9fdwe oY, % 3,00,000 T Teh a4,  2,80,000
1 2T 3R % 20,000 T FeifeR 3R X 40,000 Fr Searar o @ler | g fafAes
Qﬁwwmﬂ11%mﬁ%1ooma§maﬁ5%mwaﬁrmml
ITILTF AsTATHT TRt FY|

372raT
1 3191, 2023 &1, HeAT fATACS & 10% sl B IX X 100 Hed & 25,000, 9% FOTTH SR
T, %m5aqféﬁm10%asmweﬁu?r@?m mﬁ%qﬁmﬁm
IRFEIT @y 7 2 2,00,000 T AV &1 FHOTIT IR & 3R FoT9d ST e T
D/RTe I ITATET A & T 31aegeh Aot giafsear wi|
(3)

U Ltd., purchased a building worth ¥ 3,00,000, machinery worth ¥ 2,80,000 and
furniture worth ¥ 20,000 from G Ltd., and took over its liabilities of T 40,000 for a
purchase consideration of ¥ 6,30,000. U Ltd. paid the purchase consideration by
issuing 11% debentures of ¥ 100 each at a premium of 5%. Record necessary
journal entries.

OR
On April 1, 2023 ,Sana Ltd. issued 25,000, 9% debentures of ¥ 100 each at a
discount of 10% , redeemable at a premium of 10 % after 5 years. The company
has a balance of ¥ 2,00,000 in securities premium reserve account. Pass necessary



journal entries for issue of debentures and to write-off discount/Loss on issue of
debentures.

20. 37el 3N &7 T B H 3:2 & ]I H ol dicad dlel AIGR Al 1 3, 2023 T
Wﬁﬁaﬁaﬁwma@masmﬁqa‘erﬁmlmmwﬁmmsw
o1, 39 fafdr &1 v & g 3Rfaa [ 7 2 50,000 & A9 2, amammﬁr@?rﬁr
T 40,000 T 2 AT AT| 3R A & [T 39 @a & T 20,000 26 AW 27|
3IYNFT & TTAT0T & I H HTITH JSTATHAT Fiafsear hy|
(3)

Ali and Badri were partners in a firm sharing profits in the ratio of 3:2. On April 1,
2023 they admitted Chauhan as a new partner .Their new profit sharing ratio was
5:3:2 On that date there was a balance of ¥ 50,000 in general reserve, a debit
balance of ¥ 40,000 in the profit and loss account and ¥ 20,000 debit balance in
advertisement suspense account of the firm. Pass necessary journal entries
regarding distribution of above items.

21. 3% fafAes & Hf&Ha Gt % 15,00,000 & TS5 % 10 9id HoT & FHAT it &
fasnfaa forar arar ?n U o7 1,00,000 37T ST A & AT e IHDT B,
95,000 37l & ferw 3rmdce ared gl il TRIATT &Y 318 5,000 372 9X T 2 ufa 3rer fir
Tgel 3R 31T T HY SrseR Tl AT Rt urea &S | A 37er sfed Y fAT aTw|
aTe, 3 STedt U 1T 372l 3 @ 4,000 Y T 12 Uy 3T HT X T ST Y AT I

(a) @Y=t JrfAfTe, 2013 T ITEET 111, #19T | & HTAR el & Tgfey fqazor
2 amtrsﬁ'aal‘ré'm
(b) $Hchﬁ~r(f YT WX Al T daR &Y (4)

OK Ltd. has an authorised capital of ¥ 15,00,000 divided into equity shares of ¥ 10
each. The company invited applications for issuing 1,00,000 shares. Applications for
95,000 shares were received. All calls were made and duly received except the first
and final call of ¥ 2 per share on 5,000 shares. These shares were forfeited.Later on
4,000 out of the forfeited shares reissued at ¥ 12 per share.
(a) Present the ‘Share Capital’ in the company balance sheet as per
Schedule lll, Part | of the Companies Act, 2013.
(b) Also prepare ‘Notes to Accounts’ for the same

22, N, K 3R & % & @ArsicR & 3R omer o gifey &l 3:2:1 & 37q91d # e 3§ U
AT & 3 W 31 AT 2023 FF B FHl ﬁwm%mwwﬁaﬁﬁ
YT (Fehe; o 3TelTdT) R STEY SAGIRAT & FEATANOT & TG, ﬁﬁlﬁ@ﬁmgﬁf

(a) N c@RT % 25,000 T ShIAT AcTeT T $ITATT fohaT I1aT 27|

(b) 60,000 a:aaaﬁﬁrmﬁaa‘a:tru‘rﬁmﬁ% 65,000 T Tl TAHR
fora|

(c) Kl wal & % 20,000 T 0T AT AT FSehT $[aTcllet 38 o feam ara |



23.

(d) ® & faeest T @d % 9,000 AT 3R R @R Tl fohaT arm |
Pt T TEcTehl F ITFA el ¥ T 39T S yrafseat aof

(4)

N, K and R were partners in a firm sharing profits and losses in the ratio of 3:2:1.
The firm was dissolved on 31 March, 2023 by the order of the court. After transfer
of assets (other than cash) and external liabilities to Realisation Account, the
following transactions took place :

(a) An outstanding salary of X 25,000 was paid by N.

(b) Creditors of ¥ 60,000 accepted stock at ¥ 65,000 in full settlement of their

claim.

(c) K had given a loan of ¥ 20,000 to the firm which was paid to him.

(d) Expenses on dissolution of the firm amounted to ¥ 9,000 and were paid by R.
Pass the necessary Journal Entries for the above transactions in the books of the
firm.

A fafAies fafAes & geast & e dege T Ustarear gfafsear

(a). % 10 9T HeT & & 1,000 37201 Toieg X 1 & NAIH WS foar aram ar 2 6 wid
H%T(mm%?r Y MTaeeT Y T $[ITCATT o A W StecT T foram arar | g1
yeﬁw%zqﬁrmraﬁrq@zﬁaﬁ?aﬁwmaﬁﬁmézma—cr%trmr%‘m’r
Y T 8 Ul 371 o Hed I qUT Yehell & &9 H Go1: faifAd fovam arar|

(b). % 4 9fd 37 & NiATH IR T a7 * 10 9id Fed & 300 34:AT Hr X 6 9id
3191 (X 2 NATH Fied) $r Mdest AT T 1= o1 el UR STedt &Y TORT I 2 4
gfa 3721 (% 2 NfFEgs afgq) ﬁmwaﬁﬂmaﬁﬁﬁzﬁlﬂﬁﬂm
3721 ST qUT Yeohell & & & T 2 G 370 T g R Ga: AAfAT foham aram|
(3+3)

3Tar

T+ IfAcs o T 100 9cd% & 50,000 HHAT 37T & ToIT 3deed 3T [hU|
3721 % 10 9Ty 3727 o NiFAIH ) IRy fohe 710 &) TP 30 IR o o

3TdesT 3R 3fded U - 70 9fa 37er (2 10 NfAgs afgq)

Tgell 3R 37Tde I W - AT

80,000 371t & foIT 3HTdgsT 9Tec g1 10,000 372 & e fATed X feu aw 3R
aﬁaﬁaﬁaﬁ%mﬁ@awwmmﬁww

(i) 60,000 3721t 3 TIT Mg &1 40,000 37T 3Tafea T 7T

(i) 10,000 372t & foIT 3mdCer! &Y 10,000 37er 3mafed fhu arw|

3TTdeeT 3R 3Taed 9 UIed ATaierd AT - ATTAT R ST A o 1T Ao
T ST 47| O, ﬁ%@ﬁaﬁﬁmfﬁamsﬁmo R Arafed e v &, ggelr
3R 3ITAH Irem AT AT I H DT T 3eTeh AW STecT X [l T | STecT
ﬁ:vmmﬁﬁcrﬁma%mﬁ% 120 i 377 & HoF & IeT: ST o |




Ul I G H W oleleet & oI 3MMaedeh Ast=Arer gfafsear aof wi|
(6)
Journalise the following transactions in the books Naresh Ltd.:

(a). 1,000 shares of ¥ 10 each issued at a premium of ¥ 1 were forfeited for the
non-payment of allotment money of X 6 per share (including premium). The first
and final call of ¥ 2 per share on these shares were not made. The forfeited
shares were reissued at ¥ 8 per share as fully paid-up.

(b). 300 shares of ¥ 10 each issued at a premium of ¥ 4 per share were forfeited for
non-payment of allotment money of ¥ 6 per share (including premium % 2). The
first and final calls of ¥ 4 per share (including premium % 2 ) were not made.
The forfeited shares were reissued at a discount of ¥ 2 per share fully paid-up.

OR
SK Ltd invited applications for issuing 50,000 equity shares of ¥ 100 each. The
shares were issued at a premium of ¥ 10 per share. The amount was payable
as follows:
On application and allotment — % 70 per share (including premium ¥ 10)
On the first and final call — Balance
Applications for 80,000 shares were received. Applications for 10,000 shares
were rejected and pro-rata allotment was made to the remaining applicants on
the following basis
(i) Applicants for 60,000 shares were allotted 40,000 shares.
(i) Applicants for 10,000 shares were allotted 10,000 shares.
Excess amount received on application and allotment was to be adjusted
against sums due on call. P, who belonged to the first category and was allotted
400 shares, failed to pay the first and final call money. His shares were
forfeited. The forfeited shares were re-issued % 120 per share as fully paid-up.
Pass necessary Journal Entries for the above transactions in the books of the
company.

24. A 3R B, 3:2 & 37U #H 87 3R gIfa¥ slcat arel AHER 81 31 AR, 2023 &l 3eTehr

Tyfa fdavor sa TR &:
eIy z geafaar 4




gt it 1,00,000
A 5,00,000 ¢elgR 3,00,000
B 7,00,000 | 12,00,000 | wsifeR 1,20,000
ATER 3,00,000 | et 4,40,000
¢ foer 2,00,000 | farder 3,20,000
T8 3R gife @rar 1,00,000 | #eheTdr 3,40,000
Tehe 1,80,000

18.00.000 18.00,000

3giel C & faifaiad erdt W aTsiery & anfder foha:

(i). C %Fad T 4,00,000 I 39l Goil ST &, T 39T &A1 M 1/3 a7 GEAT b A

e 7 AT g

(i). e T TATT T 7T X 1,80,000 B
(iii).  fAF F3MTST & fIT T 20,000 T 74T FoHAT ITT AT
(iv). 10,000 T Teh HTATET HTYeT AT
(v). elrer 3R 7T W 10% HeTTH SfammaT S|

(vi).  FCTeh ol HeATehel X 20,000 T 3T El
C & Jd2T W e I GEeh! H STeTer Tafsear arg &Y

3rerar
P, Q 3iR R @1 Tufa faavor 31 AR, 2023 & 58 YR AT

gdme

4

gEafaar




AAGR 5,00,000 | s & FAher 2,00,000
foaer oy Rea 50,000 | fafaer ¢ 2,00,000
omeT 3R &rfey @rar 1,20,000 | & - wT@emsl  ___ 20,000 1,80,000
qir @t Tl 1,00,000
= 4,00,000 | 37T<el FURIAT 8,30,000
Q 3,00,000 | faer 2,00,000
R 2,00,000 | E=fa 60,000
15.70.000 15.70.000

1 379, 2023ﬁR@aTﬁqa€rw3ﬂTﬁmﬁ@?rwmﬁwmﬁrgé:

(i).  3r<rer HUfRRAT & Yeteeaishat % 10,00,000 TR 3T aram| Haft Sofe} 31ee &,

(i), Toraer & 40% 3 3|

(iii). T 90% o S gT IIT AT

(iv). @& T T 1 Hed 90,000 &

(v). R & gid X 1,60,000 & T fham Swem iR QA5 iy 38& Hor @iad A

TR T & S|
(vi). P 3R QT a72T 37dTeT 2:1 g1

JeTd{eiehal T 3 AHERT & Yol TTd IR AT |

a

(6)

A and B are partners sharing profits and losses in the ratio 3:2. On 31st March, 2023
their Balance Sheet is as follows :

Liabilities T Assets g

Capitals: Goodwill 1,00,000
A 5,00,000 Debtors 3,00,000
B 7.00.000 12,00,000 | Furniture 1,20,000
Creditors 3,00,000 | Stock 4,40,000
Bills Payable 2,00,000 | Investments 3,20,000
Profit and Loss A/c 1,00,000 [ Machinery 3,40,000

Cash 1,80,000




18.00,000

18.00,000

They admitted C into partnership on the following terms:

(). C brings only his capital of ¥ 4,00,000 he is unable to bring his 1/3rd share of

goodwill in cash.

(ii). Goodwill of the firm is valued at % 1,80,000.

(iii).  There was a claim of ¥ 20,000 for Workmen’s Compensation.
(iv). There was an unrecorded Computer of ¥ 10,000.

(v). Furniture and machinery to be depreciated by 10%.

(vi). Stock is overvalued by ¥ 20,000.

Pass Journal Entries in the books of the firm on admission of C

OR

The Balance Sheet of P, Q and R as at March 31, 2023 stood as follows:

Liabilities 4 Assets (4
Creditors 5,00,000 [ Cash at Bank 2,00,000
Investment Fluctuation Sundry Debtors 2,00,000
Reserve 50,000 | Less :- Provision 20.000 1,80,000
Profit and Loss A/c 1,20,000 | Stock 1,00,000
Capitals Accounts:- Fixed Assets 8,30,000
P 4,00,000 | Investment 2,00,000
Q 3,00,000 [ Goodwill 60,000
R 2,00,000

15.70,000 15.70,000




R retired on 1st April , 2023 and the following adjustments were agreed upon:

(i).
(ii).
(iii).
(iv).
(v).

(vi).

Fixed assets revalued at ¥ 10,00,000. All the Debtors are good.
Investment decreased by 40%.
Stock was reduced to 90%.

Goodwill of the firm is valued at % 90,000.
R shall be paid ¥ 1,60,000 immediately and balance transferred to his loan

account.

The new ratio of P and Q would be 2:1.

Prepare Revaluation Account and the Partners’ Capital Accounts.

25. X, Y 3R Z Th B & 4:4:2 & 37741 H o187 3N g1 AISHT it ared HigeR F| 31 AT,

2023 &l 3o7erT T faaioT 39 YahR 4T :

&Iame z ufa 4

GRS 50,000 | $f# Td #7aeT 2.10,000
A Rera 1,00,000 | Tolic 1,90,000
A il Retd i 30,000
g - foraer 1,70000
X 1,60,000 | ©far 1,20,000
Y 1,50,000
Z 1,40,000

7.20,000 7.20,000

Z %1 7 30 [T, 2023 1 g 915 | WISIER i Hcg W AR o # et
FICRIG T E:
e T T ohT FHediehel TUSel TR st & T o1sT hr 3 ay shr Tlie a1 fovar

Q).
(ii).

(iii).

ST AT Y fam ¥ 50,000 27|

Hcg Y ARG cTeh Z & 18T T gTfet H GG hr aToreAT foishl o MTerR oX &l STt
AT 31 AT, 2023 T FATCA a¥ o TIT farshT & A T 4,00,000 R a8 1 3134,
2023 ¥ 30 ST, 2023 ek <l A T 1,50,000 AT| 31 AT, 2023 T FATCH IY &

forT &mer a1 Z 2,00,000.

Yol 9X 10% Jfel a¥ Y &3 & SATST FeTet fohdT ST 27|

Z T Yol WIdT 38 aIRA &I A & fw TR |

(6)

X, Y and Z were partners in a firm sharing profits and losses in the ratioof 4 : 4 : 2.
On 31st March, 2023 their Balance Sheet was as under :

Liabilities

4

Assets




Creditors 50,000 | Land and Building 2,10,000
General Reserve 1,00,000 | Plant 1,90,000
Workmen Compensation Stock 30,000
Reserve 1,20,000 | Investment 1,70000
Capitals:- Goodwill 1,20,000
X 1,60,000
Y 1,50,000
Z 1.40,000

7.20,000 7.20,000

Z died on 30th June, 2023. The partnership deed provided for the following, on the
death of a partner :

(i). Goodwill of the firm was to be valued at 3 years purchase of average profits
of the previous four years which were ¥ 50,000.

(ii). Z's share of profit or loss till date of death was to be calculated on the basis of
sales. Sales for the year ended 31st March, 2023 amounted to ¥ 4,00,000
and that from 1st April, 2023 to 30th June, 2023 amounted to ¥ 1,50,000. The
profit for the year ended 31st March, 2023 was ¥ 2,00,000.

(iii).  Interest on capital was to be provided @ 10% p.a.

Prepare Z's Capital Account to be rendered to his executor.

26. AFEAET et & fav e fafdes fr qedeat & HoadT SR w0 § Feied
3TaeTS Astearaar faftear &<
(i). 1,000, e 100 & 10% FKOTTAT I 5% T I SR fohdr 31T, Toleten QMere
10% & NIATH IR FomaT ST |
(ii). 5,000, 9cAH T 100 & 8% FOTIAT I 5% NTAIH WX IR fohar 3=, [Siatenr
M 10% o NTAIA IR foham SATJ |
(iii). 4,000, cAeh X 100 & 9% FOTTAT T 5% T W SR fohdT 91T, TSietent eereT
Afhd e TR R S|
(2+2+2)
Pass necessary journal entries relating to the issue of debentures in the books of
Vidhan Ltd. for the following transactions :
(i). 1,000, 10 % Debentures of ¥ 100 each are issued at 5% discount,redeemable
at a premium of 10%.
(ii). 5,000, 8 % Debentures of ¥ 100 each are issued at 5% premium, redeemable
at a premium of 10%.



(iii). 4,000, 9 % Debentures of ¥ 100 each are issued at 5% discount,redeemable
at par.

HAETS
(To=ir faaxot &hr fageryon)
PART B
(Analysis of Financial Statements)

27. TAFATA@T # & foheT Fal 1 aTe] aREURAT & A fhar SIar § offehe el

gREIIAT & Tl
(a). Ydard @f
(b). TEIHT
(c). =Thdr
(d). gt (a) 3R(b) c

Which of the following item is excluded in Quick Assets :
(a). Prepaid Expenses

(b). Inventory

(c). Cashinhand

(d). Both (a) and (b)

28. WI-ﬁ?ﬁrﬁﬁmmmwwmmaaldlquNum:ﬂ?rﬁ-lfaﬁr%*l
U Il:- mmarwmﬂmﬂwﬁawﬁﬁa:ﬁmwﬁ?hwwﬁrﬁfﬁ%l

(a). AT FUTTHE.
(b). AT FUTITATE
(c). Y| TEE IR FUA Il IrIT ¢
(d). HUT I g IR FUA || TET B
T

Jg A ST AT waTg faaver # fger arfafafaay & iaeta s §:-

(a). FROTIT IR ST I ST T

(b).  TITIIRT TS B3

(c). &% FTARART 1 GeAsforairat

(d). ATer Fr fshr (1)

Statement | :- Payment of interest on borrowing by a finance company is an
Operating Activity.
Statement Il:- Payment of dividend is a Financing Activity for all kinds of companies.
(a). Both statements are correct.
(b). Both statements are incorrect
(c). Statement |is correct and statement Il is incorrect.
(d). Statement |l is incorrect and statement Il is correct.



OR
Item that falls under Investing Activities in the cash flow statement :-

(a). Paid Interest on Debentures
(b). Dividend Received

(c). Repayment of Bank Overdraft
(d). Sale of Goods

29. TAFATAET H @ A ol@Tehet 3HeTarel T o7 §2

(i) AT 3T
(ii) RATETT-&THAT 3FeTUTA
(iii}) @87 31 g1fey ST faavoT
(iv) TEfa faagor
e faehed Tl

(a) (i)

(b) (i) 31K (i)
(c) (i)
(d) (i), (ii) 3R (iv)

T
'31frIY, 1At ofrer 3R g1fe & faaor & Qv ' Fusir & Fufa faavor A sw
MN/39-2NS & 37T @S &ar g
(a). 3 gait
(b). 3R&T IR Ay
(c). rdemifores 3uR
(d). 3TeuspIfels 3UR (1)

Which of the following is a Category of Accounting Ratios ?
(i) Liquidity Ratios
(i) Solvency Ratio
(iii) Statement of Profit and Loss
(iv) Balance Sheet
Choose the correct option :
(a) (i)
(b) (i) and (ii)
(c) (ii)
(d) (i), (ii) and (iv)
OR
‘Surplus, i.e. Balance in Statement of Profit and Loss ’ appear in the company
Balance Sheet Under this Head/ Sub -Head
(@a). Share Capital
(b). Reserve and Surplus



(c). Long Term Borrowings
(d). Short Term Borrowings

30. fAFATAAT # & fohd Si-¢oT ST IR ‘HheT T 9dTg" BT 572

31.

32.

(a) e FHUT 9T STTST T 3T

(b) 5,000 S ¥ STHT T

(c) % & 320,000 FTehe Heprer

(d) =me] faer & farshr = 10,000 (1)

Which of the following transactions result in ‘Flow of Cash’?
(@) Payment of Interest on Bank Loan

(b) Deposited X 5,000 into bank

(c) Withdrew Cash from Bank X 20,000

(d) Sale of Current Investment % 10,000

shuelt Tfaferard, 2013 1 e I, 8179 | & 38R Hefaf@d #at & frg oy 3k
39-2M¥eh & 37T Tah husil & Tdf Faaor 7 T@r seer|

(i) IofY emereT Rt

(i) ®om9 T

(iii) SRTAT SITHTM

(iv) T[T

(v) GeleT IHR

(vi) TeR 3R TIIR arca (3)

Under which Head and sub-headings will the following items be placed in the
balance sheet of a company as per Schedule lll, Part | of the Companies Act, 2013.

(i) Capital Redemption Reserves

(i) Debentures

(iii) Unpaid Dividend

(iv) Livestock

(v) Mining Rights

(vi) Stores and spare parts

(a). e YT T AR Yol X 3,60,000 B SHeRT el Iequrel 3:1 § 3R =Tef
3eATeT 5 :1 &1 el IREUTT 3R 3R wrey TRETTT hr a1orer |

(b). AEATATET STHARRY F 0T - FHAT FUTCT" T 0T H |
el FURT % 7,00,000, FeT F0T % 5,00,000 3R =Te] SAeTRAT X 1,60,000  (3)




33.

(a). Working Capital of a company is % 3,60,000. Its liquid ratio is 3 : 1 and the

current ratio is 5 : 1. Calculate quick assets and current assets.

(b). Calculate ‘Debt Equity Ratio’ from the following information.
Total assets % 7,00,000, Total Debt % 5,00,000 and Current Liabilities ¥ 1,60,000.

THS fAfAes & 31 AT 2022 31X 31 AT 2023 &I FATCT I & o197 3R g1fer & [Fawor
A AT FIAT , Uil T o187 i FTiod ol JelellcHeh [daToT AR &

faaror 31.03.2023 (%) 31.03.2022 (%)

YITelel ¥ 37T 10,00,000 7,50,000
Faa fed <ag 5,00,000 4,00,000
3T T 2,00,000 1,00,000
Y I &l 50% 50%

3dar

AT FI=1T ¥ 3Tgery TATAS Sl WA TR &1 AT [daor a1 |

faazor 31 AT 2023 31 AT, 2022
() ®)
! i ' 25,00,000 15,00,000
T -I-gnﬂ- 5’ I 5’ )
1. 3R Wg 15,00,000 5.00,000
2. A ' 10,00’000 5’00’000
3. el &ITe e Y
Fel 50,00,000 25,00,000
Il g=afaar
1. A - Trer IREOui=Ar 35,00,000 15,00,000
2. =T gREuRET 15,00,000 10,00,000
Fel 50.00,000 25,00,000

(4)

From the information extracted from the statement of Profit & Loss of MT Ltd for the
year ended 31st March 2022 and 31st March 2023, prepare a Comparative

Statement of profit & loss:

Particulars

31.03.2023 (in ¥)

31.03.2022 (in ¥)

Revenue from Operation
Employee Benefit Expenses

10,00,000
5,00,000

7,50,000
4,00,000




Other Expenses 2,00,000 1,00,000
Tax Rate 50 % 50 %
OR
From the following information prepare the Common Size Balance Sheet of 1Q Ltd.
Particulars 31st March, 2023 | 31st March, 2022
() ®)
| EQUITY AND LIABILITIES
1. Shareholders Funds 25,00,000 15,00,000
2. Non- Current Liabilities 15,00,000 5,00,000
3. Current Liabilities 10,00,000 5,00,000
Total 50.00,000 25.00,000
Il ASSETS
1. Non - Current Assets 35,00,000 15,00,000
2. Current Assets 15,00,000 10,00,000
Total 50,00,000 25,00,000

34. fEafy faavor & fev a1v 3newst 3R 3faRed IRt &, 31 AR, 2023 #F FATCT a¥ &
T IR O Ay Yarg' 3R A srfafafaat & Ad) yarg” v aromar |
31 A, 2023 de 33 fafAes & ffafyr faazor

faaor

AlCH.

31.03.2023
)

31.03.2022
)




| gHEAT 3R gIam

1. RRYRT T AT

(a) THAT 3721 4,00,000 3,00,000

(b) T 3R 37TeAT 1,00,000 25,000

2, IR-aTe &g’

Srdfenfores 38U 2,00,000 1,50,000

3. TIAHECIAT

(a) SR 2T 20,000 22,500

(YEEEIBICER] 50,000 42,500

OEREUGERICLIC 15,000 10,000
Pl 7,85,000 5,50,000

N-gREafar

1. IR-are Faferar

gufer, €97 3R 39aor R 3 dufaar

(i) FT Hafam

(ii) 3T |9 3,00,000 2,50,000

2. Tre] Fafaar — 25,000

(a) AT

(b) STTATRSR 9T 2,50,000 2,00,000

(c) Uhs 3R Nhs THFE 2,00,000 45,000

35,000 30,000

Pl 7.85,000 5,50,000

grdr & Alea:

AT . favor 31.03.2023 | 31.03.2022

)

®)




T 3R 3y
3T 37UT T - gTfer faaror &1 QW 1,00,000 25,000
Erespfoe 3UR
10% FoTIs 2,00,000 1,50,000
3TeTITele JTaeTel
HT BT YTTTT 15,000 10,000
T GO
T 4,00,000 3,25,000
afd Aederd (1,00,000) (75,000)
3.00,000 2.50,000
Sraew— B
Tafa 25,000
JTAREFT SATADRRY
(1). 50,000, 10% F0T97 31.03.2023 &l SIRY fohw a1T |
(2).a9 o &R X 20,000 T T AT fohaT | (6)

From the figures given in the Balance Sheet and additional information, Calculate *
Cash Flow from Operating Activities’ and ‘Cash Flow from Financing
Activities’ for the year ended 31st March ,2023

Balance Sheet of Abha Ltd as at 31st March, 2023

31.03.2023

Particulars Note 31.03.2022




No.

®)

®)

I- Equity and Liabilities
1. Shareholders' Funds

(a) Equity Share Capital 4,00,000 3,00,000

(b) Reserves and Surplus 1,00,000 25,000

2. Non-Current Liabilities

Long-term Borrowings 2 2,00,000 1,50,000

3. Current Liabilities

(a) Trade Payables 20,000 22,500

(b) Bank Overdraft 50,000 42,500

(c) Short-term Provision 3 15,000 10,000
Total 7.85,000 5,50,000

ll-Assets :

1. Non-Current Assets

Property, Plant and Equipments and

Intangible Assets

(i) Tangible Assets 3,00,000 2,50,000

(i) Intangible Assets — 25,000

2. Current Assets

(a) Inventories 2,50,000 2,00,000

(b) Trade Receivables 2,00,000 45,000

(c) Cash and Cash Equivalents 35,000 30,000
Total 7.85,000 5,50,000

Notes to Accounts:
Note Particulars 31.03.2023 | 31.03.2022
No. (®) )




1 Reserve and Surplus

Surplus ie. Balance in Statement of

Profit and Loss 1,00,000 25,000
2 Long-term Borrowings

10% Debentures 2,00,000 1,50,000
3 Short-term Provisions

Provision for tax 15,000 10,000
4 Tangible Assets

Machinery 4,00,000 3,25,000

Less : Accumulated Depreciation (1,00,000) (75,000)

3.00.000 2,50,000

5 Intangible Assets — 25,000

Goodwill

Additional Information :

(1). ¥50,000, 10% debentures were issued on 31.03.2023.

(2). Tax paid during the year ¥ 20,000






